
  
Document Number 

SPL81965 
Issue Date 

12/21/93 
Rev. Date 

5/11/18 

 
 

Waterous Company, 125 Hardman Avenue South, South St. Paul, Minnesota  55075  USA  (651) 450-5000     www.waterousco.com 
NOTE: When ordering parts, provide the Pump, Transmission or PTO Serial Number. 

 

 

 

CS Body Assembly Service Parts List 

CS ’93 Body Styles 
 

Index: 

 

Pump Model Component See Page 

CS, CSH, CSU, CSUH 

Pump Body Halves 
View of Body (Top Side) 2, 3 

View of Cover (Underside) 4, 5 

Intake Adapters 

Left Side 

CS, CSH Standard 

6, 7 
CSU, CSUH 

Large 

Large Rear 

Right Side 

CS, CSH 
Standard 

8, 9 
Standard Rear 

CSU, CSUH 
Large 

Large Rear 

Tank to Pump Connection 10, 11 

 
 

 

 

  



 View of Body (Top Side) 

SPL81965 
Page 2 of 11 

 

 

REF NO. DESCRIPTION 

B4 Square Pipe Plug, 3/8 in. 

B6 Square Pipe Plug, 1/4 in. 

B11 Dowel Pin, 7/16 in. x 1-1/4 in. 

B12 Gasket Set, Cover-to-Body 

B22 Hex Hd Screw, 1/2-13 x 1-1/4 in. 

B24 Round Hd Drive Screw, No. 6, 1/4 in. 

B25 Serial Plate (Body Mounted) 

B37 Body Assembly (Sold as Assembly Only – Consists 
of Volute Body and Volute Cover) 

 

REF NO. DESCRIPTION 

B43 Gasket Kit (Consists of B7, B12, B26, B39 & B42) 

B49 Serial Plate (Located on Operator’s Panel) 

B52 Self-threaded Nut 

B53 Square Hd Pipe Plug, 1/2 in. 

B56 Pipe Plug, 1/2 in. NPT Headless 

B57 Front Discharge Plug 

B58 O-ring, 3-3/4 x 4 in. 

  



 

SPL81965 
Page 3 of 11 

 

  



 View of Cover (Underside) 

SPL81965 
Page 4 of 11 

 

REF NO. DESCRIPTION 

B2 Pipe Tee, 1/4 in. 

B3 Pipe Nipple, 1/4 in. x 1-1/2 in. 

B6 Square Hd Pipe Plug, 1/4 in. 

B10 Hex Hd Screw, 1/2-13 x 4-3/4 in. 

B11 Dowel Pin, 7/16 in. x 1-1/4 in. 

B14 Socket Hd Screw, 5/8-11 x 3 in. (used prior to May 3, 2002) 

B14 Socket Hd Screw, 5/8-11 x 3-1/4 in. (used after May 3, 2002) 

 

REF NO. DESCRIPTION 

B18 Hex Hd Screw, 1/2-13 x 1-1/2 in. 

B32 Square Hd Pipe Plug or Hex Hd Pipe Plug, 1/8 NPT 

B40 Socket Hd Screw, 1/2-13 x 1-1/2 in. 

B53 Square Hd Pipe Plug, 1/2 in. 

B59 Socket Hd Screw, 1/2-13 x 4-3/4 in. 

  

  

 



  

SPL81965 
Page 5 of 11 

 

 



Intake Adapters – Left Side 

SPL81965 
Page 6 of 11 

 

REF NO. DESCRIPTION 

B4 Square Hd Pipe Plug, 3/8 in. 

B7 Intake Adapter Gasket 

B9 Intake Fitting Gasket, Standard Intake Adapter 

B21 Intake Adapter, LH 

B22 Hex Hd Screw, 1/2-13 x 1-1/4 in.  

B23 Hex Hd Screw, 3/4-10 x 2 in. 

B31 Rear Intake Fitting Gasket 

B34 Rear Intake Fitting 

B35 Hex Hd Screw, 1/2-20 x 2 in. 

 

REF NO. DESCRIPTION 

B36 Hex Nut, 1/2-20 

B39 Intake Flange Gasket (Bronze Body Only) 

B42 Discharge Flange Gasket 

B43 Gasket Kit (Consists of B7, B12, B26, B39, & B42) 

B44 Intake Fitting Gasket, Large Intake Adapter 

B55 Hex Hd Screw, 5/8-11 x 2 in. 

B60 Socket Hd Screw, 3/4-10 x 1-3/4 with Threadlocker 

  

  



 

SPL81965 
Page 7 of 11 

 

 

 



Intake Adapters – Right Side 

SPL81965 
Page 8 of 11 

REF NO. DESCRIPTION 

B4 Square Hd Pipe Plug, 3/8 in. 

B7 Intake Adapter Gasket 

B8 Intake Adapter 

B9 Intake Fitting Gasket, Standard Intake Adapter 

B22 Hex Hd Screw, 1/2-13 x 1-1/4 in.  

B23 Hex Hd Screw, 3/4-10 x 2 in. 

B31 Rear Intake Fitting Gasket 

B34 Rear Intake Fitting 

B35 Hex Hd Screw, 1/2-20 x 2 in. 

 

REF NO. DESCRIPTION 

B36 Hex Nut, 1/2-20 

B39 Intake Flange Gasket (Bronze Body Only) 

B42 Discharge Flange Gasket 

B43 Gasket Kit (Consists of B7, B12, B26, B39, & B42) 

B44 Intake Fitting Gasket, Large Intake Adapter 

B55 Hex Hd Screw, 5/8-11 x 2 in. 

B60 Socket Hd Screw, 3/4-10 x 1-3/4 with Threadlocker 

  

  



 

SPL81965 
Page 9 of 11 

 

 

 



Tank to Pump Connection 

SPL81965 
Page 10 of 11 

 

REF NO. DESCRIPTION 

B19 Tank to Pump Adapter (2-1/2 in. NPT, 3 in. NPT or 4 in. ANSI) 

B20 Blind Flange 

B22 Hex Hd Screw, 1/2-13 x 1-1/4 in. 

B26 O-ring, 6-3/4 in. x 7 in. 

B27 Tank to Pump Check Valve 

B37 Body Assembly (Sold as Assembly Only – Consists of Volute 
Body and Volute Cover) 

 

REF NO. DESCRIPTION 

B43 Gasket Kit (Consists of B7, B12, B26, B39 and B42) 

B54 Check Valve Bushing 

  

  

  

  

  



 

SPL81965 
Page 11 of 11 

 


